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Supplementary Model 3

We begin here by defining a baseline parameter set for use throughout this study. This is as follows:
e L =1 (full lethal penetrance),
e =4 = 0.85 (relative to 1 in wild-type individuals - 15% fitness cost),
e c5 = 0.85 (relative to 1 in wild-type individuals - 15% fitness cost),
e & =0.9 (90% homing rate),
e §=0.9 (90% conversion of A homozygotes from female to male),
e dp = § (conversion rate of A heterozygotes - delta if conversion is dominant or zero if recessive),

e 1 = 0.02 (rate of migration from the target into the non-target population).
The relative fitness parameters defined here are combined multiplicatively to obtain a single overall relative
fitness value for individuals of each genotype (assumed equal for both sexes). These are of the form:
Qbaa =1, Qpaa = (1—L)ea, Qupaa=(1—- L)%, Qpraa =B, Qpoaa = £BEA,

Qpbaa =eBch, DBBaa =€, (BBAa = Ehea, BBAA = EpEH.

We then define a set of initial conditions representing the genotype proportions in the population
when transgenic individuals are introduced into the wild population. For a 1:1 (introduced:wild) release
of individuals homozygous for both transgenic constructs, as is most widely considered in this study, these
are of the form:

Mppaa(1) = 0.25 = Fypaa(l), Mppaa(1l) =0.00 = Fppaa(l), Mppaa(l) =0.00 = Fppaa(1),
MBpaa(1) = 0.00 = Fpaa(l), Mppae(l) =0.00 = Fppaa(l), Mppaa(l) =0.00= Fppaa(l),
MBBaa(1) =0.00 = Fpaa(l), Mppaa(l) =0.00 = Fppaa(1), Mppaa(l) =0.25= Fppaa(l).
With the above definitions we then iteratively calculate the genotype frequencies in each subsequent

generation. This process is conducted in a two step manner. The first stage is to calculate the proportional
frequencies for each genotype (and for each sex), which is achieved using:

Mgypoo = (Qb;ma> [Mppaa (i — 1) Fypaa(i — 1) + 0.5Mpppaa (i — 1) Fppaa(i — 1) + 0.5Mppaq (i — 1) Fpaa(i — 1)
+0.25Mppaa(i — 1) (1 — @) Fppaa(i — 1) + 0.5Mppaq (i — 1) Fopaa(i — 1) + 0.25Mppaa(i — 1) Fppaa(i — 1)
+0.25Mypaa (i — 1) Fizpaa(i — 1)+ 0.125Mypaa (i — 1)(1 — ®) Fipaali — 1)+ 0.5M poaa (i — 1) Fhpaa(i — 1)
+0.25MpBpaa(i — 1) Fppaa(i — 1) + 0.25MBpaa (i — 1) FBpaa(i — 1) + 0.125M ppaa(i — 1)(1 — @) Fpaa(i — 1)
+0.25(1 — B) Mipaa(i — 1) Fypaa(i — 1) + 0.125(1 — ®) My aa(i — 1) Fypaa(i — 1)

F0.125(1 — B)Mppaali — 1) Frpaa(i — 1)+ 0.0625(1 — ®)Mppaa(i — 1)(1 — ®)Frpaali — 1)),

Myypa = ((1 +0p) b;A ) [0.5Mppaq (i — 1) Fppaa(t — 1) + Mypaa(i — 1) Fypaa(i — 1)

+ 0.25Mypaa(i — 1)(1 — @) Fpag(i — 1) + 0.5Mppaa (i — 1)@ FBpaq(i — 1) + 0.5Mppaa (i — 1) Fpaa(i — 1)
=+ O-5MbbAa(i — I)beaa(i — 1) + O-5MbbAa(i — 1)beAa(i — 1) + 0-5MbbAa(i — 1)beAA(i — 1)



e
MbbAA

€
MBbaa

e
MBbAa

+0.25Mppaa(i — 1) Fppaa(i — 1) + 0.25Mppaa (i — 1)(1 — ) Fppaali — 1) + 0.25Mypaa(i — 1)®Fppaa(i — 1)
+0.25Mypaa(i — 1) Fpoan(i — 1) + Mypaa(i — 1) Fopaa(i — 1) + 0.5Mppan(i — 1) Fypaa(i — 1)

0.5Mppan(i — 1) Frpaa(i — 1) + 0.25Mypaa(i — 1)(1 — @) Frpaa(i — 1) + 0.25Mppea(i — 1) Fypaa(i — 1)
£ 0.5Mppaa(i — 1) Fypan(i — 1) + 0.125Mppaa(i — 1)(1 — ®) Fpaa(i — 1) + 0.25Mppaa(i — 1) Frpaal(i — 1)
+0.25Mppaa(i — 1) Foaa(i — 1) +0.25(1 — ®) Mppaa(i — 1) Fypaa(i — 1) + 0.58 Mppaa(i — 1) Fopaali — 1)
+0.25(1 — B)Mppaa(i — 1) Fopaali — 1) + 0.250Mppaa(i — 1) Fopaa(i — 1)

+0.25(1 — ®)Mppaa(i — 1) Fypan(i — 1) +0.125(1 — ®)Mppaa(i — 1) Fppaa(i — 1)

+0.250Mppaa(i — 1) Fppaa(i — 1) +0.125(1 = @) Mppaa(i — 1)(1 = @) Fppaa(i — 1)

+0.1250Mppaa(i — 1)(1 — @) Fppaa(i — 1) +0.125(1 — ®)Mppaa(i — 1)@ Fppaa(i — 1)

+0.125(1 — ®)Mppaa(i — 1) Frpan(i — 1) + 0.125(1 — ®) Mppaa(i — )P Fppaali — 1)

F0.5Mppan(i — 1) Fopaa(i — 1) + 0.25Mppaa(i — 1) Fppaa(i — 1) +0.25Mppan(i — 1) Frpaali — 1)
+0.125Mpyan(i — 1)(1 — ®)Fipaali — 1],

0
— ((1 + 6)1’;’4A> [0.25 My 40 (i — 1) Fypaa(i — 1) + 0.5Mppaa (i — 1) Fypan(i — 1)

+0.125Myp a0 (i — 1)(1 — ®) Fpaa(i — 1) + 0.25Mppaa(i — 1)®Fppaa(i — 1) + 0.25Mypaa(i — 1) Fppaa(i — 1)
+ 0.5Mppan(i — 1) Fopaq(i — 1) + Mypaa(i — 1) Fypan(i — 1) 4+ 0.25Mypaa(i — 1)(1 — ®) Fppaa(i — 1)

+ 0.5Mppan(i — 1)®Fpyaa(i — 1) 4+ 0.5Mppan(i — 1) Fppan(i — 1) + 0.125(1 — &) Mppaa(i — 1) Fypaa(i — 1)
+0.25® Mppaa(i — 1) Fypaa(i — 1) +0.25(1 — ) Mppaa(i — 1) Fypan(i — 1) +0.50Mppaa(i — 1) Fypaa(i — 1)
+0.0625(1 — ®)Mppaa(i — 1)(1 — ®)Fpaa(i — 1) + 0.1250 Mpyaa(i — 1)(1 — ®)Fppaali — 1)

+0.125(1 — ®)Mppaqa(i — 1)®Fppaqa(i — 1) + 0.250Mpyaa(i — 1)@ Fppaa(i — 1)

+0.125(1 — ®)Mppaa(i — 1) Fppaa(i — 1) + 0.250Mpyaa(i — 1) Fppaa(i — 1)

+0.125(1 — ®)Mppaa(i — 1)®Fppaal(i — 1) +0.25Mpyaa(i — 1) Fypaa(i — 1) + 0.5Mpyaa(i — 1) Fypaa(i — 1)
+0.125Mppaa(i — 1)(1 — ®)Fpaa(i — 1) +0.25Mppan(i — 1)®Fpyaa(i — 1)

+0.25Mppaa(i — 1) Fppan(i —1)],

Q aa . . . . . .
= (B2b) [O-5Mbbaa(Z — I)FBbaa(Z — 1) + 0~25Mbbaa(Z — 1)(1 — (I))FBbAa(Z — 1) + Mbbaa(Z — l)FBBaa(Z — 1)

+0.5Mppaa(i — 1)(1 — ®)Fppaa(i — 1) + 0.25Mypaa(i — 1) Fppaa(i — 1)

+ 0.125Mypaa(i — 1)(1 — ®)Fppaa(i — 1) + 0.5Mpp a0 (i — 1) Fppaali — 1)

+0.25Mppaa(i —1)(1 — ®)Fppaa(i — 1) + 0.5Mppaa (i — 1) Fypaa (i — 1) + 0.25M Bpaq (i — 1) Fypaa(i — 1)
+0.5Mppaa(i — 1)Fppaa(i — 1) + 0.25Mppaa(i — 1)(1 — @) Fpaa(i — 1) + 0.5Mppaa(i — 1) Fppaa(i — 1)
+0.25Mppaa(i — 1)(1 — ®)Fppaa(i — 1) +0.25(1 — @) Mppaa(i — 1) Fypaa(i — 1)

+0.125(1 — @) Mppaa(i — 1) Fppaa(i — 1) +0.25(1 — @) Mppaa(i — 1) Fppaa(i — 1)

+0.125(1 — ®)Mppaa(i — 1)(1 — @) Fppaa(i — 1) + 0.25(1 — ®)Mppaa(i — 1) Fepaali — 1)

+0.125(1 — ®)Mppaa(i — 1)(1 — @) Fpaa(i — 1) + MpBaa(i — 1) Fppaa(i — 1) + 0.5Mppaa(i — 1) Fppaa(i — 1)
+ 0.5Mppaa(i — 1)FBpaa(i — 1) + 0.25Mppaa(i — 1)(1 — @) Fppaa(i — 1)

+0.5(1 = ®)Mppaa(i — 1) Fypaa(i — 1) +0.25(1 — ®)Mppaa(i — 1) Fypaqe(i — 1)

+0.25(1 — ®)Mppaa(i — 1) Fppaa(i — 1) +0.125(1 — ®)Mppaa(i — 1)(1 — ®)Fpaali — 1)],

QBbAa ) ) . .
— ((1 + 5D)32b“) 0.25Mppaq (i — 1)(1 — @) Frpaq(i — 1) + 0.5Mppaq (i — 1)®Fppaq(i — 1)

+ 0.5Mppaa(i — 1) Fppaa(i — 1) + 0.5Mppaa(i — 1)(1 — @) Fppaa(i — 1) + Mipaa(i — 1)@ Fppaq(i — 1)

"+ Mypaa(i — 1) Fppan(i— 1) +0.25Mppaa(i — 1) Frpaa(i — 1) + 0.25Mypaa(i — 1)(1 — ®)Frpaa(i — 1)
+0.25Mppaa(i — 1)®Fppaa(i — 1) + 0.25Mypaa(i — 1) Frpan(i — 1) + 0.5Mypaa(i — 1) Fppaali — 1)
+0.5Mypaa(i — 1)(1 = ) Fppaali — 1) + 0.5Mppaa(i — DOF5gaali — 1)+ 0.5Mypaali — 1)Fapaali — 1)
+0.5Mppaa(i — 1) Fppaa(i — 1) +0.25Mppaa(i — 1)(1 — ®)Fppaa(i — 1) + Mypaa(i — 1) Fppaa(i — 1)
+0.5Mppan(i — 1)(1 — ®)Fppaali — 1)+ 0.25Mppaa(i — 1) Fopaa(i — 1)+ 0.5Mppaq (i — 1) Fypaa(i — 1)
+0.25Mppaa(i — 1)(1 — ®)Fppaa(i — 1)+ 0.5Mppaa(i — 1)@ Fppaa(i — 1) + 0.5Mppaali — 1) Frpaa(i — 1)
£ 0.25Mppaa(i — 1)(1 — ®)Fppaali — 1) + 0.5Mppaali — D®Fppaa(i — 1) +0.5Mppaa(i — 1) Fppaali — 1)
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e
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£0.25(1 — ®)Mppaa(i — 1) Fypaa(i — 1)+ 0.58Mppaa(i — 1) Fopaa(i — 1)

+0.25(1 — ®)Mppaa(i — 1) Fopaali — 1) + 0.250 Mppaa(i — 1) Fopaali — 1)

+0.25(1 — ®)Mppaa(i — 1) Fopanli — 1) + 0.25(1 — &) Mppaa(i — 1) Fppaa(i — 1)

+0.5@Mppaa(i — 1) Fpbaa(i — 1) +0.25(1 — ®)Mppaa(i — 1)(1 — @) Fppaa(i — 1)

+0.250Mppaa(i — 1)(1 — @) Fppaa(i — 1) +0.25(1 — @) Mppaa(i — 1)PFppaa(i — 1)

+0.25(1 — ®)Mppaal(i — 1) Frpan(i — 1) +0.25(1 — &) Mppaa(i — 1) Fppaq(i — 1)

+0.50Mppaa(i — 1)FpRaa(i — 1) +0.25(1 — ®)Mppaa(i — 1)(1 — ®)Fppaa(i — 1)

+0.250Mppaa(i —1)(1 — ®)Fppaa(i —1) +0.25(1 — ®)Mppaa(i — 1)PFppaa(i — 1)

+0.25(1 — &) Mppaa(i — 1) Fppaali — 1) + 0.5Mppan(i — 1) Fypaa(i — 1) + 0.25Mppaa(i — 1) Fopaa(i — 1)
05Mppan(i — 1) Frpaa(i — 1) +0.25Mppaa(i — 1)(1 — @) Fppaa(i — 1) + 0.5Mppaa(i — 1) Fppaali — 1)
0.25Mppan(i — (1 — ®)Fppaali — 1) + 0.5Mppeali — 1) Fopaa(i — 1) + Mppeali — 1) Fypan(i — 1)

4 0.25MpBaa(i — 1)(1 — ®)Frpaal(i — 1) + 0.5Mppaa(i — D®Fgpaali — 1) +0.5Mppeali — 1) Fapaali — 1)
£0.5(1 — ®)Mppaa(i — 1) Fppaali — 1) + ®Mppaa(i — 1) Fpaali — 1) + 0.5(1 — ) Mppaal(i — 1) Fypaali — 1)
+058Mppaali — 1) Fopaal(i — 1) + 0.5(1 — ®)Mppaali — 1) Fypaali — 1)

+0.25(1 = ®)Mppaa(i — 1)Fpbaa(i — 1) + 0.50Mppaa(i — 1) Fpbaa(i — 1)

+0.25(1 = ®)Mppaa(i — 1)(1 = @) Fppaa(i — 1) + 0.250@Mppaa(i — 1)(1 — ®)Fppaa(i — 1)

+0.25(1 — B)Mppaali — )®Fppaali — 1) +0.25(1 — @) Mppaali — 1) Fppanli— 1)

+ MBBAA(i — 1)beaa(i — 1) + O~5MBBAA(i - ]-)beAa(i — 1) + 0~5MBBAA(i — ]-)FBbaa(i — 1)
+0.25Mppan(i — 1)(1— ) Frpaali— 1)),

Q
- ((1 + 6)’2"“‘) [0.125Myp a0 (i — 1)(1 — ®) Fpaa(i — 1) + 0.25Mypaa(i — 1)®Fppaa(i — 1)

F0.25Mypaa(i — 1) Fppan(i — 1)+ 0.25Mypaa(i — 1)(1 — @) Fppaa(i — 1) + 0.5Mypaa(i — 1)@ Fppaali — 1)
F0.5Mupaali — D) Fppaa(i — 1) +0.25Mypan(i — 1)(1 — ®)Fppaa(i — 1)+ 0.5Mypaa(i — 1)®Fppaali — 1)

£ 0.5Mypan(i — D) Fppan(i— 1) +05Mpan(i — 1)(1 — ®)Fppaa(i — 1) + Mypaa(i — D)®Fppaali —1)

F Mypaali — DFppaa(i — 1) +0.125(1 — ®)Mppaa(i — 1) Fypaa(i — 1) + 0.250 Mppaa(i — 1) Fypaa(i — 1)
+0.25(1 — ®) Mppaa(i — 1) Fypan(i — 1) + 0.56Mppaa(i — 1) Fypaali — 1)

F0.125(1 — ) Mppaali — 1)(1 — ) Frpaali — 1) + 0.250Mppaa(i — 1)(1 — ®)Frpaali — 1)

£0.25(1 — ®)Mppaa(i — D)®Fppaa(i — 1)+ 0.58 Mpyaa(i — 1)®Fppaa(i — 1)

+0.25(1 — ®) Mppaa(i — 1) Fppanli — 1) + 0.58Mppaa(i — 1) Fppan(i — 1)

+0.125(1 — @) Mppaa(i — 1)(1 — @) Fppaa(i — 1) + 0.25@Mppaa(i — 1)(1 — ®)Fppaa(i — 1)

F0.25(1 — B)Mppaa(i — )PFppaa(i — 1) + 0.50Mppaa(i — 1)®Fppaa(i — 1)

+0.25(1 — ®)Mppaa(i — 1) Fppaa(i — 1) + 0.58Mppaa(i — 1) Fppanli — 1) +0.25Mppan(i — 1) Fypaali — 1)
+0.5Mppaa(i — 1) Frpaa(i —1) 4+ 0.25Mppaa(i — 1)(1 — ®)Fppaa(i — 1) + 0.5Mppaa(i — 1)PFppaq(i — 1)
F05Mppan(i — 1) Fppan(i — 1) +0.25Mppan(i — 1)(1 — ®)Fppaa(i — 1) + 0.5Mppan(i — )®Fppaa(i — 1)
F0.5Mppan(i — 1)Fspan(i — 1)+ 0.25(1 — ®)Mppaa(i — 1) Fypaa(i — 1) + 0.58Mppaa(i — 1) Fupaali — 1)
+0.5(1 = ®)Mppaa(i — 1) Fppaa(i — 1) + @Mppaa(i — 1) Fypaa(i — 1)

+0.125(1 — ®)Mppaa(i — 1)(1 — @) Fppaa(i — 1) + 0.250Mppaa(i — 1)(1 — @) Fppaa(i — 1)

10.25(1 — ®)Mppaali — 1)®Fppaa(i — 1) + 0.58Mppaa(i — 1)®Fppaa(i — 1)

+0.25(1 —®)Mppaa(i — 1) Fppaa(i — 1) + 0.58Mppaq(i — 1) Fppaa(i — 1) + 0.5Mppaa(i — 1) Fppaa(i — 1)
 Mppaa(i — 1) Fypas(i— 1) +0.25Mppanli — 1)(1 — ®)Fppaali — 1) +0.5Mppan(i — 1)®Fppaali — 1)
+0.5Mppaa(i — 1)Fppaa(i—1)],

Q aa . . . .
- (B;> 0.25M oaa(i — 1) Fppaa(i — 1) + 0.125 M ppaa (i — 1)(1 — ®) Fpaali — 1)

£ 0.5Mppaa(i — 1) Fppaa(i — 1) +0.25Mppaa(i — 1)(1 — ®)Fppaa(i — 1)

+0.125(1 — ®)MpByaa(i — 1) FBpaa(i — 1) +0.0625(1 — ®)Mppaa(i —1)(1 — @) Fppaa(i — 1)

1 0.25(1 — ©)Mppaali — 1)Fppaali — 1) +0.125(1 — ®)Mppaa(i — 1)(1 — ®)Fppaali — 1)
F0.5Mppaa(i — 1) Fppaali — 1)+ 0.25Mppaa(i — 1)(1 — ®)Fppaa(i — 1) + Mppaa(i — 1) Fppaali — 1)
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e
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e
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+0.5Mppaali — 1)(1 — ®)Fppaa(i — 1) + 0.25(1 — ®)Mppaali — 1) Fapeali — 1)
+0.125(1 — ®)Mppaa(i — 1)(1 — ®) Fppaa(i — 1) +0.5(1 — ®)Mppaa(i — 1) Fppaa(i — 1)
+0.25(1 — ®)Mppaa(i — 1)(1 — ®)Fgpaali — 1)),

QBBAa ) . . .
- ((1 T 5D)’32“) 0.125M Bpaa(i — 1)(1 — ®)Fppaa(i — 1) + 0.25Mppaq (i — 1)®Fppaq(i — 1)

+0.25Mppaa(i — 1) Fpan(i — 1) + 0.25Mppaa(i — 1)(1 — ®) Fppaali — 1) + 0.5Mppea(i — 1)®Fppaa(i — 1)
F0.5Mppaa(i — D EFppaa(i— 1) +0.125(1 — ®)Mppaali — 1) Frpaa(i — 1)+ 0.250 Mppaa(i — 1) Fppaa(i — 1)
F0.125(1 — ) Mppaali — 1)(1 — ) Frpaali — 1) + 0.1250Mppaa(i — 1)(1 — ®)Fpaa(i — 1)

£0.125(1 — ®)Mppaa(i — 1)®Fppaa(i — 1) +0.125(1 — &) Mppaa(i — 1) Fpoaali — 1)

10.25(1 — B) Mppaali — 1) Fppaali — 1) + 0.50Mpyaa(i — 1) Fppaa(i — 1)

+0.25(1 = @)Mppaa(i — 1)(1 = ®)Fppaa(i — 1) + 0.25@Mppaa(i — 1)(1 — @) Fppaa(i — 1)

0.125(1 — ®)Mppaali — 1)®Fppaa(i — 1) +0.25(1 — ®)Mppaa(i — 1)Fppanli — 1)

£ 0.25Mppan(i — 1) Fppaa(i — 1) +0.125Mppan(i — 1)(1 — ®)Frpaa(i — 1) + 0.5Mppanl(i — 1) Fppaali — 1)
F0.25Mppan(i — 1)(1 — ®)Fppaa(i — 1)+ 0.25Mppaal(i — 1)(1 — ®)Fpaa(i — 1)

F0.5Mppaa(i — D)®Fppaali — 1)+ 0.5Mppaali — 1) Fapan(i — 1) + 0.5Mppeali — 1)(1 — ®)Fppaa(i — 1)
¥ Mppaa(i — 1)®Fppaa(i — 1) + Mppaa(i — )Fgpaali — 1) +0.25(1 — ®)Mppaa(i — 1) Fapaali — 1)
F0.50Mppaali — 1) Fppaali — 1) +0.25(1 — ®)Mppaali — 1)(1 — ®)Fpyaali — 1)

+0.250Mppaa(i — 1)(1 — ) Fppaa(i — 1) +0.25(1 — ®)Mppaal(i — 1)®Fppaali — 1)

+0.25(1 — ®)Mppaa(i — 1) Frpanli — 1) +0.5(1 — ®)Mppaa(i — 1) Fppeali — 1)

+ OMppan(i— 1) Fapaali— 1)+ 0.5(1 — ®)Mppaa(i — 1)(1 — ®)Fypaa(i — 1)

F0.50Mppan(i —1)(1 — ®)Fppaali — 1) + 0.5(1 — ®)Mppaa(i — 1)®Fppaali— 1)

10.5(1 — ®)Mppaa(i — 1) Fppaali — 1)+ 0.5Mppaa(i — 1) Fppaali — 1)

F0.25Mppan(i — 1)(1 — ®)Fppaali — 1)+ Mppaa(i — ) Fppaa(i — 1)

+05Mppanli—1)(1 — ®)Fppaali— 1)),

= ()220 ) [0.0625(1 — #)Mnaali ~ 1)1~ 8)Faan(i — 1)

4 0.1250 Mppaa(i — 1)(1 — @) Fppaa(i — 1) + 0.125(1 — ®)Mppaa(i — 1)@ Fppaa(i — 1)

+0.25® Mppaq(i — 1)®Fppaq(i — 1) +0.125(1 — @) Mpyaa(i — 1) Fppan(i — 1)

+0.25®Mppaq(i — 1) Fppaa(i — 1) +0.125(1 — ®)Mppaa(i — 1)(1 — ®) Fppaali — 1)

+0.250Mppaa(i — 1)(1 — ®)Fpaa(i — 1) + 0.125(1 — ®)Mppaa(i — 1)®Fppaa(i — 1)

+0.50Mppaa(i — 1)®Fppaq(i — 1) +0.25(1 — ®)Mppaa(i — 1)Fppaali — 1)

+0.58Mppaa(i — 1) Fppaa(i —1) +0.125Mppaa(i — 1)(1 — ®) Fppaq(i — 1)

+0.25Mppaa(i — 1)®Fppaali — 1) +0.25Mppaa(i — 1) Fppan(i — 1)

+0.25Mppaa(i —1)(1 — ®)Fppaa(i — 1) +0.5Mppaa(i — 1)®Fppaa(i — 1) +0.5Mppaa(i — 1) Fppaa(i — 1)
+0.125(1 — ®)Mppaa(i — 1)(1 — ®)Fppaa(i — 1) + 0.258Mppaqa(i — 1)(1 — ) Fppaq(i — 1)

+0.25(1 — ®)Mppaq(i — 1)®Fppaq(i — 1) + 0.58Mppaa(i — 1)BFpyaqa(i — 1)

+0.25(1 — ®)Mppaa(i — 1) Fppaa(i — 1) +0.58Mppaa(i — 1) Fpyaa(i — 1)

+0.25(1 = ®)Mppaa(i —1)(1 — ®)Fppaa(i — 1) + 0.5@Mppaa(i — 1)(1 — ®)Fppaa(i — 1)

+0.5(1 = ®)Mppaa(i — 1)®Fppaa(i — 1) + PMppaa(i — 1)®Fppaa(i — 1)

+0.5(1 = ®)Mppaa(i — 1)Fppaa(i—1) + ®Mppaa(i —1)Fppaa(i— 1)

+025Mppaa(i—1)(1 —®)Fppaa(i — 1)+ 0.5Mppaa(i — 1)®Fppaa(i — 1) +0.5Mppaa(i — 1)Fppaa(i—1)
+0.5Mppaa(i —1)(1 — ®)Fppaa(i — 1) + Mppaa(i — 1)®Fppaa(i — 1)

+ Mppaa(i—1)Fppaa(i—1)],

alongside an identical set of equations for females of each genotype.
The second stage is to then normalise these proportional frequencies to fill the range from zero to one.
We begin by calculating the overall fitness of the entire population by summing the proportional genotype



frequencies resulting from the above equations to give:
Q = lebaa + MbebAa + MbebAA + Mgbaa + M%bAa + M%bAA + MgBaa + MEBAa + MEBAA
+ Flfbaa + FbebAa + FlfbAA + ngaa + ngAa + ngAA + FEBaa + FEBAG. + FEBAA'

This is then used as a normalising factor to give the final genotype frequencies for a particular generation
as follows:

Miypaa(i) = Mipaa /S Mipaa(i) = Mgpa,/Q Mppaa(i) = Miaa/Q, Mpoaa(i) = M.,/
Mpyaa(i) = Myaa/Q  Mpyaa(i) = Mpyaa/Q  MpBaa(i) = Mppa./Q Mpaa(i) = Mppa./Q,
Mppaa(i) = Mipaa/Q  Fivaa(i) = Fipaa/Q  Fobaa(i) = Fiyaa /S Frvaa(i) = Faa/9Q,
FBiaa(i) = Fipaa/Q FBoaa(i) = Fpaa/Q,  Feoaa(i) = Fiyaa/Q  FBBaa(i) = Fipaa/Q,
Fppaa(i) = Fpaa/Q  Fepaa(i) = Fipaa/Q.

We then insert these values into the proportional genotype frequency equations in order to calculate the
values for the next generation and so on until the desired end point is reached.

Note that in the case of a two population model we consider a non-target population signified by the
use of lower case m and f (replacing M and F in the target population). This results in an identical set
of equations at all stages above, except for the use of alternate initial conditions and the normalisation
process for the non-target population (note that due to the consideration of unidirectional migration,
the normalisation process for the target population remains unchanged). Here the altered set of initial
conditions for the non-target population represent a fully wild-type population, i.e.

Mibaa(1) = 0.50 = frpaa(1), Mipaa(l) = 0.00 = frpaa(l), mppaa(l) =0.00 = frpaa(l),

MBaa(l) = 0.00 = fpaa(l);, MmBraa(l) =0.00 = feraa(l), mpraa(l) =0.00 = fpaa(l),
MBBRaa(l) = 0.00 = fpaa(1), Mmppac(l) =0.00 = fepaa(l), mppaa(l) =0.00 = fepaa(l).
The normalisation process for the non-target population is the given by

Mbpbaa (7’) = (MMbebaa + mgbaa)/QMigV MppAa (7’) = (MMI)EbAa + mlibAa)/QMigv
mepan(i) = (UMg,an + Mipaa)/Oig:  MBaa(i) = (EMpaa + MBraa)/Aig:

mpbaa(i) = (LM aq + meBbAa)/QMjgv mppaa(i

= (UM, a4 + MBpaa)/Qig:
= (:u“lebAa + meBBAa)/QMiga

)

MpBaa(i) = (MMipaq + MBpaa)/Mlig:  MBBA()

mppaa(i) = (tMgpaa + MBpaa)/Wig: Sovaa(i) = (WFaa + Fivaa) /Mg
fovaa(i) = (1Fgpaa + fivaa)/igr  fovaa(i) = (nFaa + fioan)/ QMg
[Bbaa(t) = (LFpaq + f]esbaa)/QMigv [Bbaa(i) = (nFgpa, + f]ei’bAa)/QMig’

fBbaa(i) = (nFgpaa + f%bAA)/QMiga fBBaa(i) = (1Fpe0 + fE’Baa)/QMigv

fBBAG(T) = (1FRpa0 + ngAa)/QMig7 fBBAA(i) = (WFgpa0 + f]%BAA)/QMig’
where - -
QMig =w+ MQ,

and @ denotes the normalisation factor for the non-target population in absence of migration.



